Regulation Section	Requirement	Estimated No. Respondents	Avg. No. Responses Per Respondent	Total Annual Responses	Hours Per Response	Annual Burden Hours	Previously Approved Burden Hours		
		Δffe	ected Publice S	STATE & LOCA	A AGENCIE	S (Including Ind	ian Trihal Orc		
	Affected Public: STATE & LOCAL AGENCIES (Including Indian Tribal O Reporting								
248.4	State Plan	47	1.00	47.00	40.00	1,880.00	1,800.00		
248.10(a) (2)&(3)&(b)	Authorization Monitoring/Review	47	167.06	7,851.69	1.00	7,851.69	7,947.00		
248.10(e)	World William Street	47	50.62	2,379.30	2.00	4,758.60	4,768.00		
248.10(f)	Coupon Management System	47	1.00	47.00	5.00	235.00	225.00		
248.11	Financial Management System	47	1.00	47.00	10.00	470.00	450.00		
248.17(b)(2)(ii)	State Agency Corrective Action Plan	9	1.00	9.00	10.00	90.00	90.00		
248.18(b)	Audit Responses	13	1.00	13.00	15.00	195.00	195.00		
248.23(b)	Annual Financial Report FNS-683	0	0.00	0.00	0.00	0.00	135.00		
	Annual Report on Recipients, Farmers, Farmer's Markets, Roadside Stands FNS 203	0	0.00	0.00	0.00	0.00	46.00		
Subtotal (Ren	orting Requirement)	47	222.68	10,393.99	0.00	15,480.29	15,656.00		
- 3.2.2.2 (1.10)					Public: Farms	(Farmers/Mark			

248.10(a)(2)	Farmer's Market Agreement and Authorization (1/3 or .33 of 23,793 authorized entities or 7,851.69 or 7,852 per year for 3 year periods)						
(3)&(b)		7,851.69	1	7,851.69	1	7,851.69	7,947.00
Subtotal (Rep	orting Requirement)	7,851.69		7,851.69		7,851.69	
Total Reporting Requirment		7,851.69		18,245.68		23,331.98	
Affected Dublic, STATE 8 LOCAL ACENCIES (Including Indian Tribal Ore							

Affected Public: STATE & LOCAL AGENCIES (Including Indian Tribal Org Recordkeeping Nutrition Education 248.9 47 1.00 47.00 1.00 47.00 45.00 Farmer/Farmers Market/Roadside Stand Agreement and 248.10(b) Authorization 47 1.00 47.00 2.00 94.00 90.00 Summary of Farmer/Farmers' Market/Roadside Stand 248.10(e) 47 1.00 47.00 2.00 94.00 90.00 Monitoring Record of Financial Expenditures 47 1.00 47.00 2.00 94.00 90.00 248.11(c) Subtotal (Recordkeeping Requirment) 47 4.00 188.00 1.75 329.00 315.00 **TOTAL BURDEN** 7,899 18,433.68 23,660.98

Difference Due to Program Adjustment	Difference Due to Program Changes	Difference Due to Program Adjustments	Reason to Increase or decrease to Burden Hours	Estimated Hourly Wage Rate		Estimated Total Annual Cost to Respondent	
janizations and	US Territories)			•		•	
			Ageneics				
80.00			from 45 to 47	\$	29.44	\$	55,347.20
-95.31				\$	29.44	\$	231,153.75
-9.40			farm stands	\$	29.44	\$	140,093.18
10.00			Agencies from 45 to 47	\$	29.44	\$	6,918.40
20.00			Agencies from 45 to 47	\$	29.44	\$	13,836.80
0.00				\$	29.44	\$	2,649.60
0.00				\$	29.44	\$	5,740.80
0.00	-135.00		FNS-203 added .30 hours	\$	29.44	\$	-
			and the consolidati on of FNS- 683 and				
0.00	-46.00		FNS 203	\$	29.44	\$	-
5.29					-	\$	455,739.73
stands)							

-95.31			\$	14.03	¢	110,159.21
33.31			Ψ	-		110,159.21
				-		565,898.94
janizations and	US Territories)					,
2.00		Agencies from 45 to 47	\$	29.44	\$	1,383.68
4.00		Increase in State Agencies from 45 to 47	\$	29.44	\$	2,767.36
4.00		Increase in State Agencies from 45 to 47	\$	29.44	\$	2,767.36
4.00		from 45 to 47 State	\$	29.44	\$	2,767.36
14.00		Agencies from 45 to 47		-	\$	9,685.76
					\$	575,584.70